Johnny divides by 2

Description

Johnny is studying division and he started by division by 2. To practice division, his colleague gave him a set of
problems as follows: Given a string S of length L all containing digits from 0 to 9 (with no leading zeros), how many
substring of S can be divided by 2 with no remainder, and how many cannot be divided by 2 with no remainder. For
example string "123" has six substrings "1", "2", "3", "12", "23", and "123". Four of which cannot be divided by 2 with
no remainder, which are "1", "3", "23", and "123" and only two substrings can be divided by 2 with no remainder,
which are "2", and "12". Since Johnny feels that he may solve them incorrectly specially that his colleague gave him
a lot of them, he decided to write this problem and submit it to the LCPC chief judge to put it in the contest for the
LCPC teams to solve it, and so Johnny will get back a program that generate the solution to verify his answers.

Input Format

Input will start with T number of test cases. Followed by T lines each line contains string S with length 0<L<10 of
digits 0-9.

Output Format

For each test case, output the result using the following format:

k. DN

Where k is the test case number (starting at 1), a single period, a single space, then D (how many substrings of S can
be divided by 2 with no remainder), N (how many cannot be divided by 2 with no remainder).

Sample Input Sample Output

1 1.24

123
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